

# Algebra • Add 3 Numbers

You can add numbers in any order.

$$3 + 2 + 1 = 6$$

$$\begin{array}{c} \textcircled{3} + \textcircled{2} + 1 = 6 \\ \quad \quad \quad \swarrow \quad \searrow \\ \quad \quad \quad \underline{5} \quad + 1 = 6 \end{array}$$

$$\begin{array}{c} 3 + \textcircled{2} + \textcircled{1} = 6 \\ \quad \quad \quad \swarrow \quad \searrow \\ 3 + \quad \quad \underline{3} = 6 \end{array}$$

Use circles to change which two addends you add first. Complete the addition sentences.

1.

$$\begin{array}{c} \textcircled{3} + \textcircled{2} + 4 = 9 \\ \quad \quad \quad \swarrow \quad \searrow \\ \quad \quad \quad \underline{\quad} + 4 = 9 \end{array}$$

$$\begin{array}{c} 3 + \textcircled{2} + \textcircled{4} = 9 \\ \quad \quad \quad \swarrow \quad \searrow \\ 3 + \quad \quad \underline{\quad} = 9 \end{array}$$

2.

$$\begin{array}{c} \textcircled{6} + \textcircled{2} + 3 = 11 \\ \quad \quad \quad \swarrow \quad \searrow \\ \quad \quad \quad \underline{\quad} + 3 = 11 \end{array}$$

$$\begin{array}{c} 6 + \textcircled{2} + \textcircled{3} = 11 \\ \quad \quad \quad \swarrow \quad \searrow \\ 6 + \quad \quad \underline{\quad} = 11 \end{array}$$

# Algebra • Add 3 Numbers

You can add numbers in any order.

$$3 + 2 + 1 = 6$$

$\begin{array}{c} (3) + (2) + 1 = 6 \\ \swarrow \quad \searrow \\ \underline{5} \quad + \quad 1 = 6 \end{array}$	$\begin{array}{c} 3 + (2) + (1) = 6 \\ \swarrow \quad \searrow \\ 3 + \underline{3} = 6 \end{array}$
------------------------------------------------------------------------------------------------------------------	------------------------------------------------------------------------------------------------------

Use circles to change which two addends you add first. Complete the addition sentences.

1.

$$\begin{array}{c} (3) + (2) + 4 = 9 \\ \swarrow \quad \searrow \\ \underline{5} \quad + \quad 4 = 9 \end{array}$$

$$\begin{array}{c} 3 + (2) + (4) = 9 \\ \swarrow \quad \searrow \\ 3 + \underline{6} = 9 \end{array}$$

2.

$$\begin{array}{c} (6) + (2) + 3 = 11 \\ \swarrow \quad \searrow \\ \underline{8} \quad + \quad 3 = 11 \end{array}$$

$$\begin{array}{c} 6 + (2) + (3) = 11 \\ \swarrow \quad \searrow \\ 6 + \underline{5} = 11 \end{array}$$

# Add 3 Numbers.

Draw a line to match. Find the sum.

1.	$6 + 4 + 3 = 13$	$10 + 4 =$
2.	$4 + 6 + 4 =$	$1 + 10 =$
3.	$2 + 5 + 3 =$	$10 + 3 = 13$
4.	$1 + 7 + 3 =$	$9 + 3 =$
5.	$4 + 5 + 3 =$	$2 + 8 =$

**Show  $4 + 8 + 2$  in two different ways.**

$$\_ + \_ = 14$$

$$\_ + \_ = 14$$

# Add 3 Numbers.

Draw a line to match. Find the sum.

1.	$6 + 4 + 3 = 13$	$10 + 4 = 14$
2.	$4 + 6 + 4 = 14$	$1 + 10 = 11$
3.	$2 + 5 + 3 = 10$	$10 + 3 = 13$
4.	$1 + 7 + 3 = 11$	$9 + 3 = 12$
5.	$4 + 5 + 3 = 12$	$2 + 8 = 10$

Show  $4 + 8 + 2$  in two different ways.

$$10 + 4 = 14$$

$$12 + 2 = 14$$